tha T a’b—ab® 9 A% A2 25 =kt

@ ab?

® a+b

5 L
=%




=

% raA B4l obd L9

oo

D 4a? + 24ab + 9b> @ x%2-14x+49
2 1
® a2—§a+§ @ 64a® + 32ab + 4b?

® 4x% + 4xy + y?



3. (20-3) (x+ay) & AAKAL W, xy O A% 0 0], 0] FS
Fotofet.

D
=%



2 5 2a%b - 6ab? & 57t otd AL22

© 2 @ 2a2b @ b2
® a-3b ® 2(a - 3b)



Q5B A olgoto] th AL

112 -132 4+ 152 =172 + 192 - 212

D L
=¥




ol

&

o
< |/

o

:(X+B)2 o]

x2-14x+A

6.

@ 7

— | D=

1



7. x2—10 —
x+A=(x+5)(x—B) &, A, B FE 2tz oot

E,F:A

E,*:B:



8. T A2 -4x+312x2-3x-99 FEQ A4E?

D 2x+3 @ 2x+1 ® x-1
@ x-5 ® x-3



9. ok x o T o AA eI A AT (x4 1), (26~ 5) A W, A~ B 9
e Foroler,

Ax?2-3x+ B

L) g:a-B=



10.

i 19 ok ofh o 10 N

L7117

® x>2+5x+6
® 4x% +20x+ 25
® 25

- -8
- -8

1 1 1 1
1
\ 1 1
S 1607
T 1. 1
\ i {

bt S, (a+ b)? 9] kS Ao}

1 1

-8J
- -8

@ (2a+b)?

@ (4a+b)?



11. (x+2)2 - (x-1)(x+2) & st ks] Yerfi#?

® 2x24+4x+6 @ 2x% —4x ® xX>-Tx+2

@ 3x+6 ® 3x-6



12.

x? - (2 —6y+9) & IEalotHA?

@ (x-y=-5)(x-y+2) @ (x-y+5)(x-y+2)

® (x+y-3)(x-y-3) @ (x+y+3)(x-y+3)

® (x+y-3)(x—y+3)



13, x(x+1)(x+2)(x+

3
o] 7] ke AL

)18 A48 she Tk () gt
;

x(x+1D)x+2)(x+3)+1
=x(@)x (x+1)(®) +1
=(x*+3x)(®) +1

(@) =A<} st
AZ42A+1=(A+1)?=(®)?

® x+3 @ x+2

@ x*+3 ® x2+3x+1

@ x2+3x+2



14. o2 = a2 -ab-bc+ac A54E=9

® b+c @ a-c ® a+b @ a-b ® b-c



15, 1<x<49 9, Vx2-2x+1- Vx2-8x+ 16 = 7++3] 5FH?

D 2x-2 @ 2x+1 ® 2x-5

@ 3x-1 ® 3x+1



16. the 4] 25 A4S Fotolet,

@ 6x2-x-15

© (2x+5)*-3(2x+5) +2

5 L
=%



D 2x+8 @ 2x+2 ® 2x+1

@ 2x-6 ® 2x-8






19.

X 4y?—4-2xy O A7 E 5 QL

® x-y-2

@ x-y+4



20. o= A A2+ (-2y+3)x—(3y-1)(y+2) & UEsliote] v LAA2
A= EfshH?

D 2x-2y+3 @ 2x-2y+1 @ 2x-3y+3

@ 2x-y+3 ® x-2y+3



21. Wol7b2:2 - 3v-2 91 AAAG ] h2 o] Hol7h2x+1 % W, A2
2012 x of Tgt QAo @ thEhfw?

@ x-2 @ x+2 Q —-x+2
@ —x-2 ® x-1



22. (x+y)(x+y+2) -3 AEs| 5HH?

@ (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@ (x+y-1D(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)



23. x=-1+ V2L, x®+2x+ 19 g F5todt.

5 R
3%



24. x+y= V3, x—y= V2 Lo, x2 -y +4x -4y 9] & F51H?

O V6442 @ V6-4v2 ® 2vV6+ V2
@ 3v6-2+v2 ® 4V6-5v2



do]7t 5em Q1 Pl WE2]F2] 2ol & xem THE

—

e

ER

@® 57x? cm? @ nx(x+5)cm?

® mx(x + 10) cm? @ nx(2x+5)cm?

® nx(2x + 10) cm?



